Tert butyl alcohol
Response Ratio

0.6+

Amount Ratio

R = -7.51e-004 A*A + 4.93e-002 A + 1.43e-002
Coef of Det (r"2) = 0.994 Curve Fit: Quadratic

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_V\METHOD\82V012419S .M
Calibration Table Last Updated: Thu Jan 24 23:18:07 2019




Acetone
Response Ratio

Amount Ratio

R = -3.66e-003 A*A + 1.79e-001 A - 1.05e-002
Coef of Det (r™2) = 0.993 Curve Fit: Quadratic

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_V\METHOD\82V012419S .M
Calibration Table Last Updated: Thu Jan 24 23:18:07 2019




Ethyl Acetate
Response Ratio
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Amount Ratio
R = -2.90e-002 A*A + 3.45e-001 A - 2.40e-002

Coef of Det (r"2) = 0.994 Curve Fit: Quadratic

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_V\METHOD\82V012419S .M
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